Each questions has a 2 word answer. Both words in the answer are spelled

similarly except that 1 letter has been changed.
Example: Highest quality trial (4,4) would be BEST TEST

Some clues are cryptic and some are straight definition

1 Imperfect policemen

2 Powerful cord
3 Easy specimen

4 Triumph over more swiftly

5 Toxic jail

6 Surrender the meadow

7 Begin a business

8 A new creations purpose

9 This too is a male singing voice
10 Favorable but distrustful

Each letter of the alphabet has been replaced by another. Replace each

letter with the correct one and a quote by William Shakespeare will be revealed.
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